Problem 7.1.
ri2 = 10 cm from each other. Find the force acting on a
on the extension of the segment r12, at a distance rg3 =

Ans. 3.31-10"% N.

Two point charges ¢ = —107° C and ¢u = +1.5-10® C are located at a distance

point charge g3 = 0.1-107° C placed
2 cm from the charge ¢s.
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At the vertices of a right-angled triangle with legs a = 3 +
m and b = 4 m there are charges ¢ = —4 - 107* C, SN
Problem 7.2 g =4-107% C, and g3 = 0.8-10~* C. What is the force b : xg
acting on the charge ¢3” L
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Problem 7.3. Two positive point charges ¢ and 4q are located at a distance r from each other. What
is the closest distance from the charge ¢ at which the electric field intensity is zero? Calculate
the potential at this point. o
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Problem 7.4. 'Two electric charges ¢ = q and go = —2q are located at a distance d = 6a from each

other. On the plane containing these two charges, find the set {/:}\f points where the electric

potential 1s zero. ]
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Problem 7.5. The electrostatic field is generated by two point charges ¢; = +5- 107" C and ¢
—5 .10 C. The distance between the charges is r 10 cm. Find the potential and the

field intensity at a point 10 cm away from each charge. The permittivity of vacuum is g =
R.8542 -1071% F/m.
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ets carries a negative electric charge
ectrostatic repulsion force is balanced

Problem 7.6. Each of the two identical spherical water drop!
equal to the elementary charge e = 1.602- 10~ 'Y C. The el

by the gravitational attraction force. Calculate the radius of the droplet r. Gravitational
constant G = 6.674 - 10~ m?/(kg-s?), density of water p = 997 kg/m?.
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